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N3

Rela­«o do a­o

11xP1 P12 3xP13

4xP14 5xP24 P25

P26 P29 P32

P33 3xP34 5xP37

P42 4xP43 P46

P48 8xP49 P53

P54 2xP55 P61

P62 P63 10xP64

P66 4xP67 2xP68

2xP74
2xP75

A¢O N DIAM

Q
UNIT

(cm)

C.TOTAL

(cm)

CA60 1 5.0 671 78 52338

2 5.0 16 98 1568

3 5.0 60 24 1440

4 5.0 144 72 10368

5 5.0 44 118 5192

6 5.0 28 68 1904

7 5.0 57 68 3876

8 5.0 12 88 1056

9 5.0 24 88 2112

10 5.0 12 29 348

11 5.0 24 64 1536

12 5.0 15 108 1620

13 5.0 12 108 1296

CA50 14 12.5 44 VAR VAR

15 12.5 34 VAR VAR

16 12.5 38 VAR VAR

17 12.5 16 VAR VAR

18 12.5 24 VAR VAR

19 12.5 22 VAR VAR

20 12.5
4 VAR VAR

21
12.5

44 VAR VAR

22
12.5

4 VAR VAR

23 12.5
2 VAR VAR

24
12.5

4 VAR VAR

25 12.5 8
VAR VAR

26 12.5 88 VAR VAR

27 12.5 6 94 564

Resumo do a­o

A¢O DIAM
C.TOTAL

(m)

PESO

(kg)

CA50

CA60

12.5

5.0

842.4

846.6

811.5

130.5

PESO TOTAL

CA50

CA60

811.5

130.5

Vol. de concreto total (C-25) = 6.86 mį

Ćrea de forma total = 135.62 mĮ

COR

1

2 

3

4

5

6

7

8

9

82

84

PENA

.20

.20

.20

.20

.20

.20

.20

.20

.20

.35

1.0


